12.6

1 f(x,y)=x"+2y*-2x*-12y° +6
2 fxy)=x"+y'—x"-2xy-y?
3 f(xyz)=x"+y*-z°
4 f(xy)=(y-x*)y-x")
3 3
5 f(x,y):xy+%+b7 a>0, b>0
6 f(x,y,z):x+%+§+§ X,y,2>0
1)
f =4x°-4x=0
f,=8y°-24y=0
x=0,%1, y=0,i\@
9 fo=4@x*-1) f, =0 f, =24(y*-1)
H =96(3x* ~1)(y* 1)
12 6 2 (0’0) (11 \/§) (1!_\/5) (_1! '\/§) (_11_'\/5)
H>0 fxx
(0,0) 6 (1\3) @L—3) (-143) (-1—3)
-13

f(x,y)=(x*-1)°+2(y*-3)*-13
(1! \/§) (1!_\/5) (_1! \/g) (_11_'\/5)

~13 (0,0)

145



{fx = 4x°—2x-2y=0
f, =4y’ -2x-2y=0

X=Yy= Oa *1 (an) (1a1) (_11_1)
fo=12x*-2 f,=-2 f =12y*-2

H =4(6x* -1)(6y* -1) -4

12.6.2 L)  (-1-1) H>0
f @) (-1-)) -2
(0,0) H=0 f(0,0)=0 f(x,X) = 2x3(x* —2)
f(x,—x)=2x* (0,0) (0,0)
3
f,=2x=0
f,=2y=0
f,=-22=0
(0,0,0) f(0,0,00=0  f(x,y,0)=x"+y’
f(0,0,2) =-2° (0,0,0) (0,0,0)
f(x) xeR" Hesse H
X,  f(x) f(X) = F(%X,) = (X= %) H(Xx=X,)
a  f(x,) H
b f(x,) H
c f(x,) H
f(x,y,z) Hesse (0,0,0)

f(x,y,2)
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{fx =2x(3x* =2yx* —y)=0
f,=2y-x*-x"=0

x:y:O;x:il,yzl;x:J_riz,yzg (0,00 (L)
V2 3 V2 3
T~ R R f :30)(4 _12 X2 _2 f :—ZX—4X3
S8 o9 . eesy
f,=2

H =2(30x" —12yx* —2y) —(2x +4x°)?

A H >0
2 8) ( 2 8)
V2 3 J2 3 1
e e T o
(111) (_11 1) H < O (1!1) (_1! 1)
(000 H=0 f(0,0)=0 f(x,x*) ==x>(1-x)?
(0,0) (0,0)
5
a3
fX:y—?zo
3
fy:x—%:o
a’ b’ 2a’ 2b?
(F’Z] e BTt by
313
H=2b
X7y

2 2
12.6.2 (a—,b—] H>0 f
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2 2
2 3ab
b a
6
y
fle—on
£ =1 Z o
Xy
=129
y 2
1 1 3 1 1 3
(24,2{24) (24,2{24)
3 1
24 22 0
L 1 113
22 240 2t (24,22 .24)
1
o 2% 2¢
2 f(X,y,2) =x*+3y? +2z% - 2xy + 2xz f
f,=2x-2y+2z=0
f,=6y—-2x=0
f,=4z+2x=0
(0,0,0) (0,0,0) Hesse
(0,0,0) £(0,0,0)=0

1 1 1
Fx Yy, ) =2 (x=2y)" + 2 (x+22)" + Zy"

(0,0,0)

£(0,0,0)=0

f(x,y)=(@+e’)cosx—ye’

{fx(x1 y)=—(+€e’)sinx=0
f,(x,y)=e"cosx—(1+y)e’ =0
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X=Kkz,y=coskr-1
(kz,coskz-1) k=0,+1,+2,---
fo=—(+e)cosx f,=—e'sinx f =e’cosx—(2+y)e’
(kz,coskr—1)
H =coskz(1+e’)e’

k H<0 (kz,coskz—1) k
H>0 f, <0 (kz,coskz 1)
4 f(x,y) =sinx+siny —sin(x +Y)

D={(x,y)|x>0,y>0,x+y<2r7}

{fx =C0OS X —COoS(X+Yy) =0
f, =cosy—cos(x+y)=0

COS X = COS Y = COS(X + Y) D' ={(X,y)|0< X, y<X+Yy<27}
X=y=2r—X-Y (Eﬂ'gﬂ'j
373
x=0 y=0 x+y=2«x f(x,y)=0
f(gﬂ',gﬁ)=ﬁ>0

3 3 2

3/3
fmax_T 1:min_O

5 [01] E=ax+Db y =X

J(ab) = [ (y-£)°ox

1 1 a 1
J(a,b)=| (x¥* —ax—-b)?dx==—-=+=(a®?—-2b)+ab+b?
(a,b)=] ( Yidx=c—2+2 (@ -2)

1
a,b Hesse

= w|N

2
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J, :Ea—1+b=0
3 2

J,—a+2b-2=0
3

oy, 0, 0

2 2
S :R?[sin a, +sina, +sina,] =R7[sin a, +sina, —sin(a, + a, )]

2
4 alzazz?zas
S _3\/§R2
max 4
R H h
V = zR*H +17rR2h H = Vz—lh
3 7zR° 3

S—27RH + 7RYRZ 4 02 = 2V 2”3Rh + 7RVR? + h?

-
h

oS 2R 7zRh 0

oh 3 R?+h?

0S 2V 2rzh 2 7R?

—_— = R°+h* + ——=0
R R* 3 JR? + h?

5

R=—nh R=-—h V=zR°H +17zR2h
2 3
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8 x> +2xy+2y* =1 y = y(X)

X4y
X+ 2y

0,

X+y=0, X2 +2xy+2y% =1 y2=1
y =y(X) X=x1 X=x1 y=71
1+’

n (X+y) T
y x+2y+(x+2y)2(+ y)

y"(x1) y=y(x) x=-1 1

X2 42Xy +2y° = (x+y)Y’ +y* =1

-1<y<1 y=y(x) x=-1 1

9 2x° +2y° +2° +8yz—-2+8=0

QZLZO
ox 1-2z-8y
oz _ 4(y+22) 0
oy 1-2z-8y

x=0 y+2z=0, 2x% +2y? +7° +8yz-2+8=0

72° +7-8=0 z:1,—§ z=12(X,Y)

16
0.27)
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z=12(x,Y)
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o’z 4 0’1 o’z 4
ox*> 1-2z-8y  oxoy oy*> 1-2z-8y

(0,-2) (0,% H>0

0%z 4
0,-2 z=1 —=—>0 0,-2
(0,-2) o 15 (0,-2)
16 8 0%z 4 16
z=1 0,— 1=—— —_— = 0,—
( 7) 7 ox? 15 ( 7)
8
1=——
7
1

2X° +2(y+22)°* =(z-1)(72 +8)

(z-)(7z+8)=>0 zs—% z>1
2
z=1
8
1=—=
-
10 Oxy x=0 y=0 X+2y-16=0

(x,y)

D(X,y) = xhyM%f

X,y
2
D, = 2x+g(x+2y—16) =0,

4
D, = 2y+g(x+2y—16) =0,
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lim D(x,y)=+o

106 y)l>e
8 16
DX, T
(x,y) (5 5)
11
1 200 2f8
S=cota+cot,8+cot(%—a—ﬂ)=cota+cotﬂ+tan(a+ﬂ)
é:—CS(:Zochsecz(oc+ﬂ):0,
ox
— =—-CsC” f+sec’(a+ f) =0,
5 B (a+p)
v
a—ﬂ—z a-pf
T
o= e
p 6
12 n n
1 n
a, (k=12,---,n) n
S :E[sin oy +sina, +---+sina,_; —sin(a; +a, +-+ap4)]
oS
=—[cose, —cos(ey, +a, ++-+a,;)]=0 (k=12,---,n-1)
oo, 2

a=a,==a, ,=2n—(,+a,++a,,)
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a, == (k=12,-n)

13 0<x<1,0<y<+o
yx'1-x)<e™

f(x,y)=yx’ (1-x) y

% =x'1-x)1+yInx)=0

_ -1 c o -1
Y= nx x<(0d) oy Y= nx
f(x.y) y y-—
nx
p(x) = — LX) (X)
elnx
o'(X) = 12 (1—x+xInx)
exIn® x
g(x)=1-x+xInx, xe(0,1)
g'(x)=Inx<0 g(0+)=19(1-)=0 9(x)>0 o(X)

Iirp_go(x):e‘1
f(x,Y)<p(X)<ed (0<x<1,0<y<+n)

14 X

(3—ax— py)x (4-px-2ay)y a>fF>0

P=0B—ax—AYy)x+(4—Bx—2ay)y =—-ax’ —24xy—2ay’ +3x+4y

X,y
{PX =-2ax-28y+3=0,

P,=-2px-4ay+4=0,
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3a-2p 4o -3
X=—" 1" =
20° - p? 4a® 232
P=—ax’—28xy-2ay’ +3x+4y
H = (-2a)(-4a) - (2B)’ =4(2a° - f?) >0 P, =-2a<0
Hesse x=i@;i¥;
20° - p
da -30

V= a2 —2p
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12.6

X
8 X oy

x | 0] 1] 3|6 8|54

y 1 12|24 | 4] 3] 3
hold off
x=[0,1,3,6,8,5,4,2];
y=[1,2,2,4,4,3,3,2];
plot(x,y,'b*")
hold on
A=[x',ones(size(x"))];
B=y’;
x1=A\B;
a=x1(1);b=x1(2);y=a*x+b;
plot(x,y,'r")
string=[' y=",num2str(a), *x+',num2str(b)];
text(0.5,3.5,str,'FontSize’,16)

y=0.37845x+1.2531
35 A A y= 0.37845"x+1.2531
x(%) y(%)
X |165|17 5(18 5|19 5|20 5|21 5|22 5|23 5|245
Yy |435|42 6|41 8|40 6|40 3|38 7[37 2|360(340
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hold off

x=[16.5,17.5,18.5,19.5,20.5,21.5,22.5,23.5,24.5];
y=[43.5,42.6,41.8,40.6,40.3,38.7,37.2,36.0,34.0];

plot(x,y,'b*")

hold on

A=[x',ones(size(x))];

B=y’;
x1=A\B;

a=x1(1);b=x1(2);y=a*x+b;

plot(x,y,'r")
str=['

y=",numa2str(a), *x+',num2str(b)];
text(18,44,str,'FontSize’,16)
y= —1.1483x+62.9519

LG TLEE y=-1.1483"x+62.9519

22

n

hold off

% %
i 1 2 3 4 5 6 7 8 9 10
16.7 | 182 | 180 | 179 | 174 | 166 | 17.2 | 17.7 | 15.7 | 17.1
X;
175|187 | 186 | 185 | 18.2 | 175 | 18.0 | 18.2 | 16.9 | 17.8
Yi
y X

x=[16.7,18.2,18.0,17.9,17.4,16.6,17.2,17.7,15.7,17.1],
y=[17.5,18.7,18.6,18.5,18.2,17.5,18.0,18.2,16.9,17.8];

plot(x,y,'b*")

hold on
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A=[x',ones(size(x"))];

B=y"

x1=A\B;

a=x1(1);b=x1(2);y=a*x+b;

plot(x,y,'r")

str=[' y=",num2str(a),*x+',num2str(b)];

text(15.6,18.5,str,'FontSize’,16)
y=0.73979x+5.2286

il & H 4k y=0.73979"x+5.2286

4
16 X
y
X 2 3 4 5 6 7 8 9
y 6.42 | 8.20 | 958 | 950 | 9.70 | 10.00 | 9.93 | 9.99
X 10 11 12 13 14 15 16 17
y 10.50 | 10.59 | 10.60 | 10.63 | 10.60 | 10.90 | 10.76 | 10.80
y=ax*+bx+c
hold off
x=2:17:

y=[6.42,8.20,9.58,9.50,9.70,10.00,9.93,9.99,10.50,10.59,10.60,10.63,10.6
0,10.90,10.76,10.80];

plot(x,y,'b*")

A=[x."2'x',ones(size(x))'];

a=Aly'

hold on

y=a(1)*x."2+a(2)*x+a(3)

plot(x,y,'r")

string=[' y=',
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num2str(a(l)), *x"2+',numz2str(a(2)),*x+',num2str(a(3))];
text(5,8,string)
y =—-0.025746x" +0.68829x + 6.2507

758

65)

m 576 | 415 | 31.2 | 229 | 154 | 12.1 8.9 6.4
m t m=ae"

hold off
x=3:3:24;
y=[57.6,41.5,31.2,22.9,15.4,12.1,8.9,6.4];
plot(x,y,'b*")
hold on
yl=log(y);
A=[x',ones(size(x))'];
a=Alyl’;
y=exp(a(2))*exp(a(1)*x)
plot(x,y,'r")
string=[' m=",num2str(exp(a(2))), *e{',num2str(a(1)),*t};
text(8,28,string ,'FontSize',16)
m=78.448¢ 1%
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